900 GeV pp

ISoflt QCD

o
N
N

(p+p)/(1t+17) Vs |y| (0.0 < R < 0.8 GeV)

o
N

m LHCB
---©-- Pythia 6.428 390
--H-- Pythia 6.428 391
--%-- Pythia 6.428 392
---»-- Pythia 6.428 396
--+%-- Pythia 6.428 397
---¥-- Pythia 6.428 398

o
=
0]

(p;;balr{p})/(loi+ + pi)

o
AN

0.12

0.1

0.08

0.06

0.04

0.02

a) | | | | | | | | ' | | | | | | | |
] 1 1 1 1 [ 1 1 1 1 1 [ 1 1 1 1 —
— o _-=-zzzZZ=--" ~~=:.‘___§_ ]

—————— -— -
— w_-=z=z=== —i=:=" @“1~ e I
== == Sts. o SSoSo--
| _.=:=:iE Sis.o - —
i St
I @ - S ]
=SS
== f£
A
'QI

Ratio to LHCB
[N
1]

0.5 - |

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


